分数のひき算② (16)【約分なし】





$$1\frac{1}{6} - \frac{3}{6} = \frac{7}{6} - \frac{3}{6} = \frac{4}{6}$$

なまえ

$$1 \frac{1}{6} - \frac{5}{6} =$$

$$91\frac{2}{6} - \frac{3}{6} =$$

$$21\frac{5}{7} - \frac{2}{7} =$$

$$0 2\frac{2}{10} - \frac{9}{10} =$$

$$32\frac{1}{5} - \frac{4}{5} =$$

(1)
$$2\frac{5}{9} - \frac{7}{9} =$$

$$41\frac{1}{2} - \frac{1}{2} =$$

$$1\frac{2}{7} - \frac{4}{7} =$$

$$1\frac{2}{4} - \frac{2}{4} =$$

$$61\frac{5}{9} - \frac{6}{9} =$$

$$1 \frac{4}{8} - \frac{2}{8} =$$

$$71\frac{2}{8} - \frac{7}{8} =$$

$$1\frac{5}{7} - \frac{2}{7} =$$

$$81\frac{3}{6} - \frac{1}{6} =$$

16
$$1\frac{4}{10} - \frac{7}{10} =$$